Examen Parcial 2007-2 (Solucionario)

Prof. Miguel Sierra


Program fibonacci;

Uses crt;

Var a,b,t,i,N: Longint;

Begin

clrscr;

write('Ingrese N= ');

readln(N);

a:=0; b:=1;

for i:= 3 to N do

Begin

  t:=a+b;

  a:=b;

  b:=t;

End;

writeln('El termino N es :', t);

readln;

end.
Program serieN;

Uses crt;

Var S,t,i,N: Longint;

Begin

clrscr;

write('Ingrese N= ');

readln(N);

s:=0;t:=1;

for i:= 1 to N do

Begin

  t:=t*i;

  if ((i mod 3)= 0)

  then s:=s-t

  else s:=s+t;

End;

writeln('La sumatoria S es: ', S);

readln;

end.

Program serieT;

Uses crt;

Var S,t,ter: real;

    i: Longint;

Begin

clrscr;

write('Ingrese T= ');

readln(t);

S:=0; ter:=-1;i:=1;

Repeat

 ter:=-ter*2/i;

 S:=S+ter;

 i:=i+1;

Until (abs(ter)<t);

writeln('La sumatoria S es: ', S:16:12);

readln;

end.

Program temperaturas;

Uses crt;

Var x,y,M,N: Longint;

    a,b,c,t,s,prom: real;

Begin

clrscr;

write('Ingrese a,b,c= ');

readln(a,b,c);

write('Ingrese M y N= ');

readln(M,N);

s:=0;

for x:= 1 to M do

 for y:= 1 to N do

  Begin

   t:=a*x*x+b-c*y*y;

   s:=s+t;

  End;

prom:=s/((M+1)*(N+1));

writeln('El promedio es: ', prom:12:6);

readln;

end.

Program corta_ejes;

Uses crt;

Var x,y: real;

Begin

clrscr;

writeln('Ingrese x,y= ');

readln(x,y);

if((x>0) and (y>0))

then writeln('Corta 0 ejes')

else

  if ((x>0)and(y<=0))or
     ((y>0)and(x<=0))

  then writeln('Corta 1 eje')

  else writeln('Corta 2 ejes');

readln;

end.

